%i;}}% 7 \jl—; éﬁ :‘3’/
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Eo[1(9)]=7E,[1(g.+)]+(A-7)Ey [1(g,-)]
= 75, [1(9,1)]+ {Eo[1(9,-)] - 7E [1(9., )]}
= 75 [1(9.4) ~1(g. )]+ Ep [1(9.-)]
< 25,1 (9)]+E, [1(g. )] +...

QAP
Eo[1()] < 2{E, [T (9)]— Eo [T (0)1}+ 2o [T (9)]+ By [1(g, )] + ...



Experiment

S B 69 I ARG E R HIE A 69 ok

Random

Similarity: 5. £k e94ami2 B, Af(x)HHHE, B E R KO —IFE LR

Uncertainty: 5 £ 8 af TA KRG R T E, AIf)|HE, @A R DG —RaER
Similarity — Uncertainty

Optimal: select positive from U randomly

gk owbhE



DNA

06

Value Count
1 331 23. 64%
2 328 23.50%
3 740 B2, Bk
dna

Percent

— uncertainty
— similarity
sim_unc
——random
— optimal

25 30
# Round

35 40 45

0.9

0.8

0.3

0.2

# Training: 2,000
# Test: 1,186
# Feature: 180

dna

— uncertainty
— similarity
sim_unc
——random
— optimal

25 30
# Round

35 40 45

0.9

0.85

0.8

0.65

0.6

0.55

— uncertainty
— similarity
sim_unc
——random
—optimal

25
# Round

35 40 45 50



USPS

Valu

1

-]

1
2
3
4
]
]
T
g8
2]
]

Count Percent
1184 16. 38%
1005 13. 78%

731 10. 03%
658 9. 02%
G52 8. 94%
hb6 T.63%
fgd 9.11%
645 8. 85K
542 T.43%
644 8.83%
usps

—uncertainty
—similarity
sim_unc
——random
—optimal

10

# Round

# Training: 7,291
# Test: 2,007
# Feature: 256

usps

— uncertainty
— similarity
sim_unc
——random
— optimal

20

25
# Round

30

35 40 45 50
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F score

0.95

0.9

0.85

0.8

0.75

0.7

0.65

0.6

0.55

0.5

0.45

Value Count Percent
-1 1168 52. 21%
1 1069 47, To%
krvskp

— uncertainty
similarity
sim_unc
——random
—optimal

# Training: 2,237
# Test: 959
# Feature: 36

0.95

0.9

0.65

0.6

0.55

krvskp

uncertainty
—similarity
sim_unc
——random
optimal

5 10 15 20 25 30 35 40 45 50
# Round



Satimage

Value

[= R ) BT

Count
781
384
788
306
284
541

satimage

Percent

28.
12.
25.
. Bok
.47k
. 43%

16%
37%
1%

— uncertainty
— similarity
sim_unc
—— random
— optimal

# Training: 4,435
# Test: 2,000
# Feature: 36

satimage

r Y | ——uncertainty
| — similarity
‘N\ sim_unc
il R ——random
| \/\V \l /\/\ —optimal
o 5 10 1 5 W % 4 45 50
# Round



